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G_P W_RD 2

TERM-
INOLOGY

SEVEN
EVENTS

ACRID AF
= AFRICA + D
AMATEUR CHOIRS
= SOUTH AMERICA + R 
CROATIA CAN'T
= ANTARCTICA + O
ALASTAIR UP
= AUSTRALIA + P
ALIAS
= ASIA + L
HARMONICA TREE
= NORTH AMERICA + E 
PEER OUT
= EUROPE + T

DROPLET = PETROL + D

ACROSS
1 Colour of _hinos (4)
4 Bu_y (5)
5 Noise made by a _oggy (4)
6 _itch (5)
9 It's put on in _oats (5)
10 Wood sho_s (5)
DOWN
1 _ive off (4)
2 _ind again (5)
3 Stee_ (4)
7 Spanish _ate (5)
8 Back end of a goa_ (3)
9 You might sho_t this (3)
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Half the previous term (5)

Nine more than the previous term (6)

Number of holes in digits of previous term (6)

Number of letters in previous term, as a word (6)

TRUQST = 16 8 4 2 1

NKPJLLJPKNM
= 5 14 23 32 41 50

DACBDBD = 18 2 0 1 0 1

EHFHGGG = 15 7 5 4 4 4
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